94 +
94 +
04 +
04 +
94 +

10 +
10 +
10 +
10 +
10 +

99 +
99 +
99 +
99 +
59 +

21 +
21 +
21 +
21 +
21 +

45 +
45 +
45 +
45 +
45 +

Puissances de Dix (G)

1 =

10 =
100 =
1000 =
10 000 =

1 =

10
100 =
1000 =
10 000 =

10
100 =
1000 =
10 000

10
100 =
1000 =
10 000

10
100 =
1000 =
10 000 =

44 + 1=
44 + 10 =
44 + 100 =
44 + 1000 =
44 + 10000 =
52 + 1=
52 + 10 =
52 + 100 =
52 + 1000 =
52 + 10000 =
/8 + 1=
78 * 10 =
78 * 100 =
78 *+ 1000 =
78+ 10000 =
80 + 1=
80 + 10 =
80 + 100 =
80 + 1000 =
80+ 10000 =
1113 + 1=
1113 + 10 =
1113 + 100 =
1113 + 1000 =

1113+ 10000 =

DEFI
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